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Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers as shown in example a).
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Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers.
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Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers as shown in example a).
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Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers as shown in example a).
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Good Luck!
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